DHSFEE MFEH FEICKIBRETUT7—FEIHER

FIKRE

5 : ARFREAE 4 : JFfE ~ ARFRE R 3 ¢ 2FsfE ~ SRERE R 2 : 1EsfE ~ 2R R 7 1 TR R
TSk BiEES . 45604  EEEW: 25064 @ [EEE: 548% = (SEEER )
- e 0}% 1?% 2?% 3?% 4?% 5?% 6?% 7?% 8?% 9(})% 100}%

" 1| BENPE BRIEICHLRRAORE(FE. €8, RELL) #ABMLELED 24 7.8% 23.4% 34.4% 25.0%
% 2| YINR | REEEDHDIHIY. FHEBC TS/ RESHITLELIH 3.8 22.4% 24.0%
ezt 3| EBE® | BRCERQISRUEHELIH 4.0 30.2% [16.8%  [1.9%] |1.6%]
;% 4| HEEk | BEONEICRKREHTELED 4.0 45.8% [18.2%]  [2.4%] |2.29]
%‘:i 5| EMR | BRONBETHIERTEIELLL 3.9 24.5% 47.7%
§ 6 | BEER | ¥/ RITRERTVREEBRSERTELBVET H 3.9 48.5% 123.7%| 2.8%] [2.0%]
U] e | MESSEIN R D sk a9 b o] o
8| HE | BLACHRRARSHYPTHRTTH 4.0 116.3%] [2.9%] [2.6%]
*é 9| |E | WEOATRAVMEFZROTHoLTTH 4.0 [17.2%)  [2.7%] [2.2%]
% 10| & | BHEHE TUVMEE) OFENH GBI TLEN 4.0 31.1% 44.9% [19.4%]  [2.5%] [2.04]
52 11| BREHE | BEHE(ST/5R)ISR-TBENBMSAELLD 4.1 [18.8% |1.0%] |1.5%]
%) 12| HBE | BREEEADIESTOELID 4.1 35.2%
D 13| mRIs | REICESIHBLTOE LA 4.1
% 14| B | BRCEDLOTVEEIIWOREIWELTOELES 4.1 34.4% 46.1% |15.5%] [2.5%] [1.5%]
15| #E | BEFELTHAROBECHBCHT SRBEBLLNELLD 4.1 44.7% [15.7%]  [1.8%] [2.08]
] 3.9 30.5% 46.4% [18.5%]  [2.6%] [2.1%]

FiyfE= ( [5) @EH x5 + [4) EES x4 + (3] EEH=3 + 12) @MEHx2 + (1) @AEM 1) / DEHMEAEAHIELEEN) 5: &THESR/S 4: 2385 3:EBBELLARN 2: Z3ROEL 1 2<E5BOEL

BMBFHETL—F —F v —h

FEQBEROCEAEICRE ISR c— L AT (RS HE) B DIRFEDADF BT HERE

1B EN2E — LHEAETY (FEY) 8.8

5.0 50

1.2 2.95NA
14R1% 10841
6.BFER 3B
13. B RR G 11 BRREE

5. 8% 4. JREK 12,8508

T EORAFTMOFHAHS

5.0
5 ° e
Ot bttt oo
4.0 .. , a. ® (] [ J
:. .. .. ... [ J
( X} [ J
e e
3.0 )
" °
fli 20
1.0
0.0
0 20 40 60 80 100
BEE (L)

120

5.0
) 4.0
5
X
&
3.0
A
EF
1
B 20
*
i
7|\
@ 10
0.0
140

THAER THSER BRIGER

FE(FH)




DHSFEE MFEH PEICKIBRETUT7—FEIHER

EIKRE

5 ARFfEAE 4 : JFsfE ~ARERE R 3 ¢ 20§ ~ SR K it 2 - 1HEfE ~ 2B R R i 1 TEfE R
I8 FRERFEIFER BiEEH - 1,257 & mZE&E$H : 8614 BZEE : 67.7 % 5 B (5ERBESTE)
. ) s o % 20% 30% 40% 5?% 608 708 B0 908 1 00‘}}6
o | | [ERATE BRIBCHUERAOPETE. SF. RELL) EARMUELLD 2.3 2.4 8.8%
L 2| yina | PHEEDBHEY. FMEBL TS S/ RESHIZLELED 3.7 3.8 44.9% 24.6%
% 3| BH | BECEKMICRYMEAELLL 3.9 4.0 26.0% 49.8%
;%,; 4| B | BEORBCEKIHTED 3.9 4.0 120.9%| 1.8%] |2.8%]
ésl:i 5| Ef | BEORFEHHIERTEELLN 3.9 3.9 22.9%
;%é 6 | BEEER | ¥/ RISRSNTVHEZBRMNERTELLBVET A 3.9 3.9 237%]  [1.9%]  [2.4%]
8| B | BLHEOBBIEHHYPTHTTH 4.0 4.0 [20.8%] [1.7%] [2.9%]
@i 9| HE | WEORTRAUMERROTHOLTTH 4.0 4.0 [19.4%]  [1.2%] [2.7%]
i’% 10| #HM | BHERE TUUMEE) OBV GEHTLES 4.0 4.0 45.7% 2134 [1.7%] [2.5%]
,@ 11| BEHE | BEHE(S5/5R) SR> TEBENRMSAELLH 4.0 4.1 21.4%]  [0.2%] [2.1%]
‘%) 12| M| BEBMEERCEoTLELLL 4.0 4.1 29.2%
? 13 | ERIXEG | HRICEYICHBLTShELED 4.0 4.1 [19.8%  [1.3%] [2.24]
% 14 BE | BRCEFLOTVBASIULEHIWELTOELD 4.0 4.1 29.7% 120.1%| 11.8%] [2.0%]
15| BE | BRFELTHROBROHHICHTIBELBLOAELLL 4.0 4.1
BEHME 38 39 27.2% 47.4% 211%]  [1.8%] [2.6%]
FHgfE= (5] EEHx5 + [4) EES x4 + [3) @EHx3 + [2) EEHx2 + 1] @EHx1) / EEROMNAEALETIEEA) 5: ETHEIRS 4: 2385 3:EBBEHVALL 2: T53BOEL 1: 2<E5B0EL

BMBFHETL—F —F v —h

COEFOKAFMOF MRS

6.BREM

FHEQERCERZICEIS SRR

= DZERO T (FRFEH)
1LERENPE —ZDEROFH(FZH)
5.0

—IZREEFHFEEDR)

15. 8%

2.9V A

148815

13. BB

4. B0k

=[1)]

DAEDHAIZ

8.5 B

12,858

SEEH

10544

1R EEE

B Es

5.0

4.0

30 s

20

0.0

0 20 40

oo ® o [ J
L]
[ ] ¢ [ ] “
° [ ]
60 80 100
BIEEEH(AN)

120

5.0
® 40
=
X
&
3.0
A
E'Z
¥
&
20
L 4
=
I\
& 40
0.0
140

STIAER SHSEE

FE R

TRISEM




THSEE MFH PEICIIBRETU7—FEFHER ENKRZE

5 : 4BFfE LI E 4 : 3FFME ~ARFRE R 3 ¢ 285 ~ BFREIR 2 : 1§ ~2B5RER 1 1RRER
THE VIV IT7 ATV RER EieES - 1,381 £ EEEH: 8174 EEE: 59.2% 4 B (5ERREST i)
B 25 T#E 0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
i F e | 1 1 1 1 1 1 | 1 1 |
| | R BRIAISHLBRAOPE(FE, €8, RELL) EABMLELID 2.7 2.4 13.8%
% 2| YINA | BEEEHBIHEY. BMEFBELTL S/ SRESEILELLA 3.9 3.8 24.4% 49.1% 20.5% [4.3%] 1.8%
=
% 3| B | BRCERWICRVMAAELEL 4.1 4.0 33.9% [12.2%  [2.1%] [0.9%
;%; 4| B | BEORBCEKIHTED 4.1 4.0 34.2% 45.1% |14.9%] 13.7%]2.2%|
1<
Bls| BR | SRONBEHHCERTIELLS 3.9 3.9 25.3%
g; 6 | BEHEER | V3 RISFRERTOIEZERNERTEEBVETH 3.9 3.9 24.6% 4.2%)[2.2%
i Jp—
BENICHTCOBETELNMNOEELH 0
1| BEN | Yamspsth(BEsELTEETESH) XIS RIZEE 4.0 3.9 27.4% 50.3% 16.5%| 3.9%|[1.8%|
8| B | BLHEOBBIEHHYPTHTTH 4.1 4.0 48.0% [11.09]  [4.0%[3.1%]
E‘ 9| W|E | BRELATV—RAUMEEROTHoFTTH 4.1 4.0 44.0% [134%]  [3.4%] [27%]
)
*é 10| #H# | BHEHE, TUVMEE) OEVLHIEGTLEH 4.1 4.0 44.4% (1534  [3.2%] [2.5%]
o)
# | 11| BEHE | BEHE (TR ISRoOTEEMNBRASAELED 4.2 4.1 35.9% [1.2%)
£ |
‘73' 12| BER | BEBMEEHICESTVELES 4.2 4.1 41.4%
T [ 13| EMnG | EECEDICHBLTHEL 4.2 4.1 43.1%
)
B 4] RS | BREKELETOSERIY PRESUELTOELLS 4.2 4.1
15| #E |BREEALTHAORROREISHT IREEBELOAELIL 4.2 4.1 41.4% 43.3% 10.5%] [2.3%]  [2.5%]
BEHME 4.0 39 34.1% 46.4% [14.2%]  [3.3%] [2.1%]
Figfi= ( 5] EEH x5 + 4] EEM x4 + (3] EEHx3 + 2] @AEHx2 + [1] @EHx1) / BAERNABUIETZER) 5. ETHESRS 4: 23585 3: EBBEHLRAGL 2: £53BbHL 1: 2<E38bEL
HRBEHETFE L —F —Fv—h 0 COFEHOREFMED RS
=z - B8 =] ‘ = - - =)
FLOBRCERIET HRMH = OEH DT LR PEROEOAIATLRE 5.0 > ./‘\.
1B RO —ZOFHOTY (EEH) 8.5t8 . .
5.0 5.0 .
— TR RT Y () . o, ®
& o o
5BE 40 | Vg o ‘s ‘e o ° . % 40 A& &
14 2Y3WR : * . ﬂé *~— ——
30
30 A
aF ' & ’
A% , . .
1438 1084 *
=
6. B RER 3B &
1.0 B 1o
13 ERIR TG 1B RHE 0.0 00
0 20 40 60 80 100 120 140 SHAEH SHSEE SHISER
5B 48 1285 BEEHN) R CEH)




DHSEE WP PEICKIBETU7—IEER ENKRZE
5 : ARFRELLE 4 JBFFE ~ARFRER 3 2BRH ~3BFREIRE 2 1R ~2BFRE R 1 16FERE
THE IRDAVMF AT RER] BieEH : 1,217 4 EEEH : 494 % EEE : 40.6 % 4 B (5 E bk T4
s 27 ¥ 0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
G T | awes | | | | | | | | | | |
. || BRAE BB LIBRAOLE (PE, GF, BELY) EARMLELLA 2.2 2.4
% 2| YINR | BEEEDHDIHIY, FHEBELTOS/SRESECLELED 3.7 3.8 25.3% 33.2% 30.6%
B
% 3| B | BECEXWCRYEAELLS 4.0 4.0 32.6%
g 4| B | BRORBIRKEHTELLA 4.0 4.0 35.2%
1<
E 5| B | BEONBREHHCEMTEELES 3.8 3.9 26.9%
2 | 6 | BmER | Y3 RISRSATOAHEEMSERTELLBOET 3.8 3.9
P ppp—
BENCHTCOBRTELTANROEEL A
7| D | Samuotth BREELTERTES D) L5/ SRIRR 3.8 3.9 255% 40 217
8| BB | BLEORBIIHHYRTHSLTTH 4.0 4.0
E‘ 9| BE | EEOAT—RAUIMEEEROTOLTTH 4.0 4.0 34.6% 22.7%
D
£ |10 M| SHEHE TUSHED ORLSEEYTLEA 3.9 4.0 36.6% 26.7%
()]
E |11 | BEHE | BEHE (SR ISR-TRENBASAELEH 4.0 4.1 36.9%
%
‘73’ 12| BER | BEBMEEHICESTVELES 4.1 4.1 36.2% 19.8% [3.5%] 1.4
T [ 13| EMnG | EECEDICHBLTHEL 4.1 4.1 38.7% [1.44]
%
I§§ 14| B | BRCEDLOTVEASIYLEEIWELTVELED 4.0 4.1 34.2% 32u] [1.4u]
15| RE | BREELTRRAOBREOLHICHTIRBEBLONELID 4.1 4.1 36.0% 2.4%|  [1.8%
AT 3.8 39 32.0% 38.1% 24.5%
Figfi= ( 5] EEH x5 + 4] EEM x4 + (3] EEHx3 + 2] @AEHx2 + [1] @EHx1) / BAERNABUIETZER) 5. ETHESRS 4: 23585 3: EBBEHLRAGL 2: £53BbHL 1: 2<E38bEL

BMBFHETL—F —F v —h

COEFOKAFMOF MRS

FHEQERCERZICEIS SRR

= DZERO T (FRFEH)
1LERENPE —ZDEROFH(FZH)
5.0

—IZREEFHFEEDR)

15. 8%

2.9V A

148815

6.BREM

13. BB

4. B0k

=[1)]

DAEDHAIZ

8.5 B

12,858

SEEH

10544

1R EEE

5.0
; o @
8°% . .
40 D
.s % .. ( [ ] [ ] °
o ° o
[ ] [ J
3.0
&
?ﬁ:lf
2.0
10
0.0
0 20 40 60 80 100 120
BIEEH(N)

5.0
® 40
=
X
&
3.0
A
E'Z
¥
&
20
L 4
=
I\
& 40
0.0
140

A A— — 4
THAERR THSEER THSEM
FE(FH)




DHSFEE MFEH PEICKIBRETUT7—FEIHER

EIKRE

5 ARFfEAE 4 : JFsfE ~ARERE R 3 ¢ 20§ ~ SR K it 2 18fE ~ 2B fE R 1 TEfE R
IZH THAOHAIORER BiEEH : 106 £& EIZEEH - 92 4 EIZE2E : 86.8 % 5 B (5ERBESTE)
zarg = ot ?% 1?% 2?% 3?% 4?% 5?% 6?% 7?% s?% 9?% 100‘}}6

o | | [ERAER) BRECHLERAORE (PR, OF. RESS EARMLILED 2.2 2.4
% 2| YINR | RBEEDBIHIY, FHEEL TS/ RESEICLELID 35 3.8 13.1% 42.4% 28.3%
% 3| BH | BECEKMICRYMEAELLL 4.2 4.0 28.3%
;%,; 4| HE | BEONFICEKIIHTEL D 4.2 4.0 29.4% 58.7%
t“ésl:i 5| B | BRONEETHERTEELLL 3.8 3.9 14.1% [6.5%] [1.1%]
2 | 6 | BmER | Y3 RISRSATOAHEEMSERTELLBOET 3.7 3.9 152% 1%
® 7| #tHh %gg;g;@%@%;?gg@;gfggﬁ 258 RIZ188 3.9 3.9 19.6% 56.5% 2179 [11%) 1.1%

8 | BB | BLAVBBIRSHYOTHoETEH 4.3 4.0 52.2%
@i 9| HE | BEPLAV—RIVMEFRPTHLTTH 4.2 4.0 35.9% 47.8% 16.3%
ié 10| HH | o EHE TUSMEE) OBVF BT A 4.0 4.0 26.1% 53.3%
52 11| BEHE | BRHECTR)ITR>TRENERShELLD 4.2 41 31.5% 53.3%
‘%) 12| B | BEBRMEENCEOTVELES 43 4.1 30.1%
E 13| HRxG | BREICETICRELThELED 44 41 45.7%
% 14| B | BRCEDLOTVEASIYLEEIWELTVELED 43 4.1 34.8%

15| #E | BEEELTHAOBEOHEICNTIRBEEBLLAELLD 43 4.1 35.9% 9.8%

BEHME 4.0 39 29.2% 15.5%] [2.04] 10.6%I|
FyfE= (5] EEHx5 + 4] EEH x4 + (3] EEH=3 + 12) @EKx2 + [1] @AEHx ) / BERMEAEUIELERN) 5. ETHESRS 4: €385 3: EBBEBVALL 2: T3 BOEL 1 2<Z5BHEL

BMBFHETL—F —F v —h

REF@ED S HCOERDOLER)

COEFOKAFMOF MRS

FHEQERCERZICEIS SRR

6.BREM

= DZERO T (FRFEH)
1LERENPE —ZDEROFH(FZH)
5.0

—IZREEFHFEEDR)
4.0

15. 8%
2.95NA

148815

13. BB

4. B0k

=[1)]

DAEDHAIZ

5.0

8.5 B

12,858

SEEH

10544

1R EEE

5.0

4.0

3.0

B Es

20

0.0

o?

20 40 60 80 100 120

BIEEH(N)

5.0
® 40
=
X
&
3.0
A
E'Z
¥
&
20
L 4
=
I\
& 40
0.0
140

DRIGER




DHSFEE MFEH PEICKIBRETUT7—FEIHER

EIKRE

5 : ARFRELLE 4 JBFFE ~ARFRER 3 2BRH ~3BFREIRE 2 1R ~2BFRE R 1 16FERE
THE ToOZFITTHAUFER BiEEH : 608 £& EEEH : 252 4 BZEE: 41.4% 4 8 (SERREST)
sy %7 e 0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
G T | swws | | 1 | | | | | | | |
L | 1 |ERaE| BRIECHUBRIORE (PE. HE. RELL) EABMLELD 25 2.4 6.8%
%
% 2| YINR | BBEEDHBIHEY. FREBLTLS/SRESEICLELL 3.9 3.8 17.9% 58.7% |19.5%] 2.8%] [1.2%
B
% 3| BH | BECEKMICRYMEAELLL 4.2 4.0 28.2%
g 4| B | BRORBIRKEHTELLA 4.1 4.0 54.0% 0.4
1<
B s ER | BRORBEFHERTEILLL 4.0 3.9 26.2% 0.84|
2 | 6 | BmER | Y3 RISRSATOAHEEMSERTELLBOET 40 3.9
P pp—
REMIH T OBETEEAMNOSELLL :
1| FET | SEmR0fih BEEELTERTESN LT/ SAIER 4.1 3.9 2424 50.1%
8 | BB | BLAVBBIRSHYOTHoETEH 4.1 4.0 [10.7%] [2.4%] [1.6%
B o] BE | EEOCATRAAEEEROTBATT 4.1 4.0 0.4%]
) |
3‘% 10| #H# | BHEHE, TUVMEE) OEVLHIEGTLEH 4.1 4.0 56.8% [12.79] [1.22][0.4%]
|
D |
E |11 | BEHE | BEHE(CF/1R)ISHOTRBENERSNELLS 4.1 4.1 60.7% [12.3%] [1.2%]]0.4%]
%
A 12] BM | SEEMEEHCHEOTLOELLS 4.2 4.1 32.5% [1.24]
T [ 13| EMnG | EECEDICHBLTHEL 42 | 44 s [12¢) o)
)
R4 BE | BECESLETLBERIVCRAIGELTLELLS 4.2 4.1 30.6%
15| ME | BREELTHAOBRCOEHISHTIRBIBLOAELLL 4.2 4.1 34.1% 56.8% 0.4%|
P 40 | 39
Figfi= ( 5] EEH x5 + 4] EEM x4 + (3] EEHx3 + 2] @AEHx2 + [1] @EHx1) / BAERNABUIETZER) ETHESR/S 4: 23585 3: EBBEHLRAGL 2: £53BbHL 1: 2<E38bEL

BMBFHETL—F —F v —h

COEFOKAFMOF MRS

6.BREM

FHEQERCERZICEIS SRR

= DZERO T (FRFEH)
1LERENPE —ZDEROFH(FZH)
5.0

—IZREEFHFEEDR)

15. 8%

2.9V A

148815

13. BB

4. B0k

=[1)]

DAEDHAIZ

8.5 B

12,858

SEEH

10544

1R EEE

B Es

5.0

4.0

3.0

20

0.0

5.0
e g e
o, 3.° ® 4.0
Q °
é. Esi
N
° &
3.0
A
E'Z
#
&
20
2
=
I\
fi& 10
0.0
20 40 60 80 100 120 140
BIEEH(N)

STIAER SHSEE

FE R

TRISEM




	工学部_全体.pdf
	工学部_情報通信工学科.pdf
	工学部_ｿﾌﾄｳｪｱｻｲｴﾝｽ学科.pdf
	工学部_ﾏﾈｼﾞﾒﾝﾄｻｲｴﾝｽ学科.pdf
	工学部_ﾃﾞｻﾞｲﾝｻｲｴﾝｽ学科.pdf
	工学部_ｴﾝｼﾞﾆｱﾘﾝｸﾞﾃﾞｻﾞｲﾝ学科.pdf

